Paul Busby
PRS

KRISTINA

110

J

~
|

11

O

e
rit.

|
|

i

11

Y
/

1D

Tempo

=

| —

8 18

I
Je 1D ¢

Tempo
|




Kristina p.2

|
.

|
:

®
™

:

5

%ﬁ%'

s

X

s

3

= ¢ =

. |||7a.9| QL
iy
umm&| I
TeQL_ QL
“+u m
[\ I TN
TN R — T
TR q
™
B\
e
TR —
|Whv Whv
NP ™
.

Tempo

|
r
o

;
o

o
i

ten

7
4

rit.

|7l

s

5 . 3

I2Y
v

o

[ 0}
ANSVJ
e




Kristina p.3

/\

%:

e ..‘
TR
®

gradual accel

Slow Tempo

==

Ik

ol A,

[

A T — TN
e |
%ar L
#

9 T

N
oy
7 e
q ) ﬁb/
S

-

1”14

11

r
rit

Ik




Kristina p.4

Tempo

T

o

s

4

ﬁ




